
F I T S : H - D  M O D E L S  W I T H  S TA N D A R D  “ F U L L  C O V E R A G E ”  R E A R  F E N D E R S

PART#  I N C L U D E D
409165 1 Chrome License Plate Holder
409165R 1 Thin Rubber Pad
409165W 1 Thick Rubber Wedge
201021 3 1/4”–28 x 1-1/8” S.H.C.S. 
201022 3 1/4”–28 x 3/4” S.H.C.S. 
201023 4 1/4”–28 x 1/2” B.S.C.S. 
201024 7 1/4”–24 Nylock Nuts — Chrome
201025 4 1/4” I.D. Flat Washers — Chrome

T O O L S  S U G G E S T E D
3/16”. 5/32” Allen wrenches, 7/16” Combination wrench, Phillips screwdriver, Small “rat
tail” file, Drill with 1/4” bit

N O T E S
1) Due to the large variation of license plate dimensions, hole patterns, etc., some
trimming, hole slotting, or hole enlargement of the plate will most likely be required for
proper fit.
2) Not all of the included parts will be used in this installation. Components for two
different mounting positions are supplied.
3) It is up to the owner or end user of the product to determine if the repositioning of the
plate conforms with local laws.

P R O C E D U R E AVERAGE TIME: 30 MINUTES
STEP 1 Remove the stock license plate bracket from the fender. 

STEP 2 Determine which mounting position you desire. If you like the plate to stand up
more upright, similar to the stock orientation, the larger “wedge” shaped rubber base will be
used along with the 1-1/8” socket head bolts. If you want the plate to lie down and hug the
contour of the fender, use the thin rubber base pad and the 3/4” socket head bolts. 

STEP 3 See PIC.1. (Laydown position pictured — note the placement of the thin rubber
pad.) Install the license plate bracket with the appropriate base pad and bolts. Use the
existing three holes in the fender from the stock bracket, or in custom applications the holes
in the lay down bracket may be used as a drilling template. Place the nylock nuts on the
mounting bolts inside of the fender. Make sure the bracket is centered and straight, and
tighten securely.

STEP 4 Place the license plate on the plate bracket and
determine if relocation of the holes in the plate is necessary.
Drill or elongate the holes as needed. 

STEP 5 Fasten the plate to the new lay down bracket using
the button heads, flat washers, and nylock nuts provided. 

Ride On!
9165-21HD-1102

P I C .1

L AY  DOWN L ICENSE  PL ATE  BRACKET   9165

I N S TA L L AT I O N

Illiana

E - M A I L

techsupport@kuryakyn.com

WA R R A N T Y
Küryakyn™ warrants that any Küryakyn product 

sold hereunder, if properly installed, maintained
and operated under normal conditions, shall be free

from any defects in materials and workmanship
for a period of one (1) year from the date the
Küryakyn products are sold to the customer.

CONSEQUENTIAL DAMAGES:
Küryakyn shall not be liable for any

consequential or incidental damages.

A B O U T O U R C ATA L O G
You’ll find all our innovations for H-D, GL and 

Metric Cruisers in our annual catalogs. Order online
today–select the ”CATALOGS” icon. Each Küryakyn™

product comes with a Proof-of-Purchase good for a
complimentary catalog. Details in packaging.

Be sure to ask your local dealer about other
Küryakynproducts, the motorcycle parts and

accessories designed for riders by riders.

©2001 Küryakyn USA™ All Rights reserved.


